
X   

 

 

y = ax2 + bx + c a, b c
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y

x

𝑦 = 𝑘(𝑥 + 3)(𝑥 − 2)

𝑦 = 𝑘𝑥2 + 𝑘𝑥 − 6𝑘

−6𝑘 = 12 𝑘 = −2

𝑦 = −2𝑥2 − 2𝑥 + 12
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(3𝑥 × 9−𝑥)2

271+2𝑥
=

1

3

x
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(3𝑥 × (32)−𝑥)2

(33)1+2𝑥

=
(3𝑥 × 3−2𝑥)2

33+6𝑥

=
(3−𝑥)2

33+6𝑥

= 3−2𝑥−(3+6𝑥)

3−8𝑥−3

1

3
= 3−1 −8𝑥 − 3 = −1

𝑥 = −
1

4
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x

(2𝑥 + 3)3𝑥+2 = 1

(3𝑥 + 2)2𝑥+3 = 1

(2𝑥 + 3)2𝑥+3 = 1

(
2

𝑥
+ 1)

1

𝑥
+3

= 1
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𝑎𝑏 = 1

𝑏 =  0 𝑎 ≠ 0 00

𝑎 =  1

𝑎 = −1 𝑏

 3𝑥 + 2 = 0 𝑥 = −
2

3
𝑥 = −

2

3
2𝑥 + 3 =

5

3
≠ 0 𝑥 = −

2

3

2𝑥 + 3 = 1 𝑥 = −1

2𝑥 + 3 = −1 𝑥 = −2 𝑥 = −2 3𝑥 + 2 = −4

𝑥 = −2.

𝑥 𝑥 = −2, −1, −
2

3

 2𝑥 + 3 = 0 𝑥 = −
3

2
𝑥 = −

3

2
3𝑥 + 2 = −

5

2
≠ 0 𝑥 =

−
3

2

3𝑥 + 2 = 1 𝑥 = −
1

3

3𝑥 + 2 = −1 𝑥 = −1 𝑥 = −1 2𝑥 + 3 = 1

𝑥 ≠ −1.

𝑥 𝑥 = −
3

2
, −

1

3

 2𝑥 + 3 = 0 00

2𝑥 + 3 ≠ 0

2𝑥 + 3 = 1 𝑥 = −1

2𝑥 + 3 = −1 (−1)−1 = −1 2𝑥 + 3 ≠ −1

𝑥 𝑥 = −1).

 
1

𝑥
+ 3 = 0 𝑥 = −

1

3
𝑥 = −

1

3

2

𝑥
+ 1 = −5 ≠ 0 𝑥 = −

1

3
2

𝑥
+ 1 = 1

2

𝑥
+ 1 = −1 𝑥 = −1 𝑥 = −1

1

𝑥
+ 3 = 2

𝑥 = −1.

𝑥 𝑥 = −1, −
1

3
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𝜋𝑟2

2

𝜋(2𝑟)2

2
= 2𝜋𝑟2

𝜋(3𝑟)2

2
=

9𝜋𝑟2

2

𝜋(6𝑟)2

2
= 18𝜋𝑟2

18𝜋𝑟2 + 2𝜋𝑟2 −
9𝜋

2
𝑟2 −

𝜋

2
𝑟2 = 15𝜋𝑟2

𝜋(6𝑟)2 = 36𝜋𝑟2

15𝜋𝑟2

36𝜋𝑟2 =
5

12
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7

10
×

6

9
×

3

8
=

7

40

7

10
×

3

9
×

6

9
=

7

45

3

10
×

7

10
×

6

9
=

7

50

7

40
+

7

45
+

7

50
=

847

1800
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𝐷𝐹 =  √336 = 4√21

𝐸𝐷 = 8 ×
12

20
=

24

5

24

5
× 4√21 =

96√21

5
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∠𝐴𝐶𝐵 ∠𝐶𝐷𝐵

∠𝐴𝐵𝐶 = ∠𝐶𝐵𝐷
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5

4
𝐴𝐶 = 3 ×

5

4
=

15

4
𝐴𝐵 =

5 ×
5

4
=

25

4

∠𝐴𝐵𝐶 = ∠𝐶𝐵𝐷 = 𝑥

∠𝐵𝐶𝐷 = 90 − 𝑥 ∠𝐴𝐶𝐵 = 90 ∠𝐴𝐶𝐹 = 180 − 90 −

(90 − 𝑥) = 𝑥

𝐴𝐶 =

15

4
 𝐵𝐶 = 5 

15

4

5
=

3

4

𝐶𝐹 = 4 ×
3

4
= 3

𝐴𝐸 =  𝐶𝐷 +  𝐶𝐹 =  3 +  3 =  6
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6!

4! 2!
×

6!

3! 3!
×

5!

3! 2!
= 15 × 20 × 10 = 3000

6!

3! 3!
× 6 × 2 +

6!

3! 3!
× 5 × 2 +

5!

3! 2!
× 6 × 2

= 20 × 6 × 2 + 20 × 5 × 2 + 10 × 6 × 2 = 560

http://www.iclms.ac.uk/


𝑃 = 18𝑁 − 𝑁2 − 76

𝑄 = 18𝑁2 − 𝑁4 − 76

𝑅 = −18𝑁2 − 𝑁4 − 76

𝑆 = 18𝑁 − 4𝑁2 − 76

𝑇 = 18𝑁3 − 𝑁6 − 76
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𝑃 = 5 − (𝑁 − 9)2

𝑄 = 5 − (𝑁2 − 9)2

𝑁2 = 9 𝑁 = ±3

𝑁2 𝑁4

𝑅 = 5 − (𝑁2 + 9)2

(𝑁2 + 9)2

𝑆 = −4 (𝑁 −
9

4
)

2
−

223

4

𝑇 = 5 − (𝑁3 − 9)2

𝑁3 = 9 𝑁 =  √9
3

√9
3
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𝑥 =  6 𝑥2 + 2𝑥 − 32 = 16, 

𝑥 𝑥2 + 2𝑥 − 32
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𝑥2 + 2𝑥 − 32 = 𝑦2

(𝑥 + 1)2 − 33 = 𝑦2

(𝑥 + 1)2 − 𝑦2 = 33

(𝑥 + 1 − 𝑦)(𝑥 + 1 + 𝑦) = 33

𝑥 + 1 + 𝑦 = 33 𝑥 + 1 − 𝑦 = 1

𝑥 + 1 + 𝑦 = 11 𝑥 + 1 − 𝑦 = 3
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 (𝜋3 − 𝜋) (
1

𝜋2−𝜋
−

1

𝜋2+𝜋
). 
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(𝜋3 − 𝜋) (
1

𝜋2 − 𝜋
−

1

𝜋2 + 𝜋
)

= 𝜋(𝜋 + 1)(𝜋 − 1) (
1

𝜋(𝜋 − 1)
−

1

𝜋(𝜋 + 1)
) 

=  (
𝜋(𝜋 + 1)(𝜋 − 1)

𝜋(𝜋 − 1)
−

𝜋(𝜋 + 1)(𝜋 − 1)

𝜋(𝜋 + 1)
) 

= 𝜋 + 1 − (𝜋 − 1) = 2 
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𝑥

𝑟

𝑥 − 𝑟

sin 30 =
𝑟

𝑥−𝑟
.

1

2
=

𝑟

𝑥−𝑟

𝑥 − 𝑟 = 2𝑟

𝑥 = 3𝑟

𝜋𝑟2 1

6
𝜋(3𝑟)2 =

3

2
𝜋𝑟2 

𝜋𝑟2

3

2
𝜋𝑟2

=
2

3
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